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ég Consider the following system of equations:

3)) Yok A & X + 2y = 4
u + ¥y + w + X - y - z= 2
2u - 3w+ x + z= 3
-u + 2w+ x ¥ ¥ - z= 1
u - v - 2z = 0

A) Transform the augmented matrix (A |b) into its Echelon Form by performing a
sequence of elementary row operations. Without solving for the general solution,
determine if z can be chosen arbitrarily. Repeat for x and y.

B) Start with the Echelon Form and use back substitution to find the general solution
expressed in terms of one or more abitrary unknowns.
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Original Augmented Matrix Echelon Form

z (is), (is not) arbitrary because

x (is), (is not) arbitrary because

y (is), (is not) arbitrary because

solution:
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